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Gmrib : 3 wewfl ] [ Qurss wHUQuaTsEr : 150
Time Allowed : 3 Hours ] [Maximum Marks : 150
Mleyenr : 1) <owarsg efarss@pn sfurs ugleurdl o drergm 6T GIT LI & 610 60T

sfluriégis QateremeyLb. SiFgLLgeller GapudmuAer oiemné
sansreniluurerflib o Langwrss Qzflelsseyb.

(2)  Bebd g sniiy ewulamer vl GG T(PEHIUSHEGL LwaT(HSS
Couewr(Bid. LI g6 auanreusHE LD LweTU (& seyLb.

Instructions : (1) Check the question paper for faitness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2)  Use Black or Blue ink to write and pencil to draw diagrams.

G&Huy  :  Comewrer @LsHd LLD QUENTHGI, FLOGTLIT(HSE®MET GT(LHS)IE.
Note : Draw diagrams and write equations wherever necessary.
U@S -1/ PART -1
GOILY : () emensg) ellamésEns@n el welssab. 30x1=30
(i)  eflurer aflebemwis CoibRsHSHs) T (LPG|.
Note : (i)  Answer all the questions.

(if)  Choosé and write the correct answer.

L Cadluuriysseiigedler arg seupreang ?
(=1) BerrggenenowjenL g
() @506 Seriey dpad CamaiL@dps
(8) uruys seumd Qurmefen g L 2AB&Gaemer Corhmelsdng
(FF) wrliyé Geromsdr 2 meurdenner
For chemisorption, which is wrong ?
(@) Irreversible
(b) It requires activation energy

(c) It forms multimolecular layers on adsorbate
(d) Surface compounds are formed

[ Slmlays/ Turn over
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2
&CGerrGymsitler eremugy :
(=) CCl, CHO (<) CCI,NO, (@) CHCl, () CHZNO,
Chloropicrin is : .
(a) CCly CHO (b) CCI3NO, (c) CHCI,4 ' (d) CH3NO,

SIHEOTE 2 6Tem TOEL_FTengerTed SLsgidnanar CUDmETer GmnsL sdlsar :
(=) <flblen sLg&lsar () n- auens GMDSLslaer
(@) p- s Eq’;sﬁg)&L_g‘éﬂa‘;ei‘r () WensLgsris CummLger

Semiconductors which exhibit conductivity due to the flow of excess negative electrons
are called :

(a) Super conductors (b) n-type semiconductors
(¢) p-type semiconductors (d) Insulators

Ceudls goblencvudler seamenio :

(1) QuiiEs soblan (<) Hlemawireng

(&) gepid Qe () Qe (<2 HmID b)
State of chemical equilibrium is :

(a) dynamic (b) stationary

(c) none (d) both (a and b)

epsFamsEnsHaL_Cu emanl rmen Weanewrliy Spsramuareudmer @)l
@éene :

(<1) CH,COOH (<) CH50C,Hs
(@) CH,CH,OH (/) C,HsNH,
Intermolecular hydrogen bonds are not present in :

(a) CH;CO®H (b) GC,H;0C,H;
(c) CH4CH,OH (d) G,HzNH,

UTITETHSS Semenloudlen e, :

(=) gru G (=) HiGar 19w
(@) BM (FF) erid
Paramagnetic moment is expressed in :

(a) Debye Unit (b) Kilojoules

(¢) BM (d) ergs




N
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H, oogitd T, aflellmbe HI o meun@ib swhlave efenarufen K, =K. gQeefle :

(<=4) An, =2 (G%)Ang=l (@) An, =0 () An,= -1

In the formation of HI from H, and I, Kp= K. because :

(a) Ang=2 . (b) Ang=1 (c) Ang=0 (d) Ang=—1

P& aums efleamnuien eflenar Gaus wrHladlufer AL 1.54x10-3 eflearmig ~ 1
CTElE) DB DAGDT GUTLDE SHTELD :

(1) 540 eflermig s (<) 450 eflerrig sar
(8) 45 eflanmig seir () 54 eflewrmig sser

The rate constant for a first order reaction is 1.54 x10~3 sec—1. Its half life period is :
(a) 540 seconds (b) 450 seconds
(c) 45 seconds (d) 54 seconds

L SaranTTy. GeleUams salplogens Carbseaney :
(<=1) lewrnsg salpiowb (<=4) safl

(@) umreod (7)) senyse

Ruby glass is a colloidal solution of :
(a) Solid-sol * (b) Gel
(¢) Emulsion (d) Sol

DBLTRET epessablen [AenanrliLig Srid -
()1 (=)2 (@) 3 (/) 4

The bond order of nitrogen molecule is :

@ 1 (b) 2 © 3 d) 4
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11.

12.

13:

14.

4

epassadlad Bl eanl rmer GepeanriiGmsTer FTem
(1) 0 - eopL_GyriSemmed (<) m - enplCrmSeanred

(@) p - @p GrriSenre (F) Qeupmier ergiejsleene

The intramolecular hydrogen bonding is present in :
(a) (b)
(©) (d)

o0 - nitrophenol m - nitrophenol

p - nitrophenol None of the above

UTIT&THSSSENEID LIGRTL| GHLIL S ST aorid

(<=1) Cmmg erevéLl_prenser

(<) ppewwrs Hlrouliuc L GTUSLTTE 2 6T o (D6
(Q) safllss eras yrenser

(FF)  pebwrs srellurs o drer cradl Frear o ¢r LNQET

Paramagnetism is the property of :
(a)
(b)
(c)
(d)

Paired electrons
Completely filled electronic subshells
unpaired electrons

Completely vacant electronic sub shells

2CI(g)—>Cly(g) elevamufieh AH wpmyid AS wéluyseflen @ser wanGu

(@) +, - (@) +, + @) - - () = +
For the reaction 2Cl(g)—Cl,(g) the signs of AH and AS respectively are :
@ +, = (b) +, + (© ~, - @ -, +

Epsaam.. Cerwmiseld eré&Cseioib &Crrenwa GCerrany(® Cergamens s
2 LuLmg ?

(1) Cudl, (<) HgCl, | rr-(‘@) ZnCl, () C,HsCl
Which of the following compounds will not give positive chromyl chloride test ?
(a) Cudl, (b) Hgdl, 1, () ZnCl, (d) CgHsCl
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16.

17;
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s8MLEsEsS Femanbu|erer wTHsmar( :
(=1) Corhlwib (=) rbserd
(@) yGrefwib (FF) YGrmiguwid

Radioactive element of lanthanide is :
(a) Thorium (b) lanthanum

(¢) uranium (d) Promethium

2 GTarflll Lyehmiq el SHeneul|enL g :

(1) H3PO, (<) H3PO, (&) P,0, (7)) P,O5

The compound with garlic taste is :

(@) HyPO, (b) HRPO, () P04 (d) P,O5
NaNO,/HCl . .

CeHsNH, — o~ e X X eremiigy :

(1) CgH; Cl (25) CgHs NHOH (@) C,HsN,Cl (/7)) C¢H;OH
NaNO,/HCl .

CgH5NH, —— = ek > X Identify X.

@ GCHsC = (b) CH;NHOH () CeHsN,Cl (d) CgHs0H

geLmed ellemerallh@ o L LiL Tg) :
(1) ureLODd (=) PG SaTae

(@) Qs saraea () safl

The phenomenon of Tyndall’s effect is not observed in :
(a) Emulsion - (b) Colloidal solution

(c)  True solution (d) Gel

[ ®lys / Turn over
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19,

20.

21s

22.

23.

6

@@ QastiuBlee TP TE Qswaepmpuder Gurs, Ser Qewdpapuile
JEN W 3:3k2) ere_Gpmal LrHow : )

(=) yRPWL ENETEL

(@) G@na| () CopserL ageyb Gome

For an isothermal process, the entropy change of the universe during a reversible process
is: :

(a) Zero (b) More
(c) Less (d) None of the above

pevidflen eremig) :

(=) sTadlSlells Sibled (=p) Sl enLev gredlfleds ojbletd
(@) srelflerdyaan® () Bz sralfGaL

Aspirin is :

(a) Salicylic acid (b) Acetyl salicylic acid

(c) Salicylaldehyde (d) Methyl Salicylate

SHafsrradgyarer Friflenmiw ydsanTd GgrEHseen cTaTeRil&EEns -

(24) 1 (=2)2 (&) 3 () O
The number of secondary alcoholic group in glycerol is :
(@ 1 (b) 2 © 3 (@ 0

aury efler&HEL Qurmersaiier LweaUHouS)

(<31), MnO, (<) CeO, (@) NOs () Fe,O4
% isusedin gas lamp material.
(@) MnO, (b) CeO, () NyO5 (d) FeyO3

CH,COOH-@ &Lomen sLsgis Spen 25°C @ 80 @b~ ! Qaf? goTed ' OO
eredler Hrssedle 400 i1 Qa2 glomemd ~ L. g S <|feib(CH;COOH)
an Qflens IO
() 1 () 0.2 (@) 01 () 03

The equivalent conductivity of CH,COOH at 25°C is 80 ohm~1cm?2 eq ™! and at infini

dilution 400 ohm ™! em” eq 1. The degree of dissociation of CH,COOH is
@) 1 (b) 0.2 () 0.1 d) 03




24,

25:

26.

27,

7 ) 3331

GEpsGaTen @same @EhGaralld SlOWTs WIHDLILIL g :
(<21) Bry/H,O (<) o LLIdIBIE Fenyaea

(@) Lreemev siyeumfl () =i HNO,

Glucose is not oxidised to gluconic acid by :
(a) Br,/H,O (b)  Fehling’s solution
(c) Tollens Reagent (d) Conc. HNO;4

L]

Fes GUTaTed 6Tenrm BiemwIHULBHGS swirflés LweTu@En GCarwld:
(31) AACrmew (=) G’ 9Cermen

(@) =Gsr yrimue <y osanre (F) Samerssme

The compound used in the preparation of the tranquilizer, sulphonal is :
(a) acetone (b) acetophenone

(c) Isopropyl alcohol (d) glycol

GTe&L_Trenm BT L SHleor D@ :

(<21) MeV = (=) JK1 (@) ev (/) KJ mol~!

=

The unit of electron affinity is :

(@) MeV (b) JK~1I (c) eV (d) KJmol~!

ariepuelenr efeemnufiery FRUMD &flwsd Cerwib :

(<21) (GH5), NH (=) CH; NH, (&) (CHz); N (rF) (CH5),N*I™

The organic compound that undergoes carbylamine reaction is :

(@) (CHg),NH  (b) GC,H;NH, (€©) (CHg)s N (d) (CHg),N*I~

¥ [ Smuys / Turn over
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28.

29,

30.

CH;0—-CH—-CH,; @ge IUPAC Quuwii :
e,
(=) 1 - Bgsrédl LrlGuer
(<) Qgdler mGer LrlienLied ST
(@)‘g(ﬁ&n Yruemue Glgdle T
(FF) 2-1868m68 LriGuen
IUPAC Name of this compound CH,0—CH—CHj :

I
CH,

(a) 1 - Methoxy propane
(b) Methyl isopropyl ether
(c) Isopropyl methyl ether
(d) 2 - Methoxy propane

epenar LHMID rewr BrbY Hassafigib srariuBbn QaaruLgdle

o _GTETEney
(=) QavslHlam (=) Q&seLmadler
(@) sresGLr elb@Bser (F) =0Gemm =jfled

=

(a) Lacithin (b) Cephalin
(c) Galactolipids (d) Amino acid

occur in the white matter of the brain and of all nervous tissue.

SULT(B) SiHeT eremiig) :
(1) 1€ (=) _1¢° (@) H' () pHe?

B - particle is represented as :

@ ,q€° (b) _q€e° () 4H! (d) ,He!
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U@ - II/PART - II

@GPy : () gCGseyb uglenenbgl leanmssense eflen we, 15x3=45
(i)  geuGleurm efNarralm @b RN V608 ATeT(H eursHL R
elen_wief.
Note : (i)  Answer any fifteen questions.

31.

32,

33.

34.

35.

36.

(ii)  Each answer should be in one or two sentences.

Qansslianu eumrwim.

Define Hybridisation.

CQufleflwn (z=4), Quéetfwid (z=12) HDID HTOHA WD (z=20) < dlwelndler
CTQESLTTE B L i sear TDEGDOW LpsHuild A @GWD. ger ?

The Electron affinities of Beryllium (z=4) Magnesium (z=12) and calcium (z=20) are
almost zero. Why ?

H3PO; - Qb smrsgieun 2 el wig. Blemiq.
H3PO; is diprotic. Prove.

o sLGermilesfey 2 GallnCandm Hmer LHH eGleu.

waf L1 (10

Discuss the oxidising power of fluorine.

N2t o i gar Blnpererereuins o _drarer. QT Zn?* o 16T Qeuamrentowins
O GGG, Greor ?

Why Zn?* salts are white while Ni2+ salts are coloured ?

Sléveur enmL Gy _an CeuliulILB &g Gurg) erener efleneray gou@LD ?

What is the action of heat on silver nitrate ?

i [ ®Lys / Turn ovet
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38.

39.

40.

41.

42.

43.

44.

10

3A7 + Het - ,S5i%0+ H! +Q et 2 L& evamnuder Q WHliens sewr_H
13A177=26.9815 amu '
14517 =29.9738 amu

,He*=4.0026 amu LoHmb

,H!=1.0078 amu

Calculate Q value of the following nuclear reaction
13A17 +,Het — 1,610+ H! +Q

13A177 =26.9815 amu

145130 =29.9738 amu

,He*=4.0026 amu and

II—I1 =1.0078 amu

STy GTEUEUT) 2 (HeuTEImg ?

How are glasses formed ?

Qauliu @ussedwue @ream b el updlu Qe b 6T(RSI5.

Give Kelvin statement of second law of thermodynamics.

')NOCI( ) = 2NO(g) + Cly(g) efevanufied K. e iy 790°C & 3.75x 10~ =8
dm~3 0. K, @ wilmus sanssl@s.(R=0.0821 dm? atm K~ 1 mol~1)

For the ethbrlum 2NOC1(g) 2NO(g) + Cly(g) the value of the equilibrium cons
K_is 3.75x10™ 6 mol dm~2 at 790°C. Calculate K, for this equilibrium at the s:
temperature (R=0.0821 dm3 atm K~ ! mol 1)

S|E0] AUTLPEYS STELD-GUETILIM).

“Define Half life period.

Wwa® euans ellemanuien gGCsEID @ranr(h AnliGueLsmer 6T (PSS
Write any two characteristics of first order reaction.

LITELORISET cranmmed eramen ? @rewi(® er(HSSISEST(HSET H(HS.
What are emulsions ? Give two examples.

Eflen oweflll QumESD erempra cremer ?

What is ionic product of water ?




45.

46.

47.

48.

49.

50.

51.
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BGeriamlieny sLlomiis swameuuiladlmhg CoumuBhsss.

Distinguish racemic mixture from mesoform.

Henerdaraledmbg QLfaSer ereueumm swrflssLu@dng ?
How is Terylene prepared from Glycol ?

‘Leu’ wepenws eflers@s.

Explain Dow’s process.

AL CLren GCerrCrrl.uriaplen KOH apaireflanevud e ereueurm &len e
yfldmg ?

How does acetone reacts with chloroform in the presence of KOH ?

WrEgs lwsdler erCoenibd epeny Liensamar 6T (LGS

Write any three uses of lactic acid.
A, B opmid C 56 ser_is.

il &
@ cHycodl

KMnO 4
e — e S O
©)

Identify A, B and C.
CH, NH HNO
2 N 2 2, A

CH,COCl o

KMnO 4
5 C
©)

Bleapulli erélflae(peng. w4 s6r) eremprd ererar ? R THSHEST_(H
SO

What are antibiotics ? Give one example.

-

» [ $lpLliys / Turn over



3331

12

u@g - II/PART - 111

@OLY : g@aQearm Gfeld @mbsibd Gonbs ulsb @wm Narssamer

Carpos®hds Quwrssd e lamasEnsg ollamweafléseab. 7

Note : Answer any seven questions choosing at least two questions from each section.

B2,

53.

54,

55.

56.

57.

Yifley-y / SECTION - A
@ craslraflar Heans Ceussda 2 drer Flanaufdears semeno 5.7 % 10° m/sec
aafle, xsear Hameoulde o arer iBlen e ufeb 6o & 5 6tren Lo en W & Ga&EE (H 5.
(h=6.626x10"3 kg m?>s~! Hlenm m =9.1x10~ 3 kg)

Calculate _the uncertainty in the position of an electron if the uncertainty in its velocity
is 5.7x10° m/sec. (h=6.626x1073* kg m?s~!, mass of an electron=9.1x10"! kg)

srigD ereveurn NsCsHE&sLILGEDS cramumg cllaTsEs.

How is gold extracted ?

wrpsmer(h GméssHen ellaneralsamar elleufl.

Discuss the consequences of lanthanide contraction.

Qaoardpar GmerliLs Qararasuler apabd Garaumb Carwiisaflen
< MALLTed @led Seli] HmID SrHsL LT smer allarsEs.
(<31) [Fe Fgl*~ (<=2b) [Fe (CN)gl*~

Mention the type of hybridisation and magnetic property of the following complexes
usmg VB theory

(@) [Fe F ™ (b) [Fe (CN)gJ4~

Yifley - =y / SECTION - B
ereo_Grm9uden(s) Aol semersd SH(Hs.
Give the characteristics of entropy (s).

PCl; flangub elenand@ Ko wopmib Kp wrpledls@nésrer &woemumbsame
Qu(Hed & & ey LD.

Derive the expressions for K- and K, for the dissociation of PCls.
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58. Gwgdled <l CLi en 2blgdler wemafamaude BrThuGEEL efamerudern
allemenCGeus wrdledlenw Bliamuds@n Cargeareni ellerd;gs.

Explain the experimental determination of rate constant of acid hydrolysis of methyl
acetate.

59. Ag*/Ag opmiinFed+ /Fe2+, (Pt) <l DI EEQ G EBSBTEn L \Slemenn(pss
SHareygar(emf) wpenmCui 0.7991 V, 0.771 vV AGW. EPsEsTanib ol enanssrer
gwblene wrMedlenwis FenTEd ().

Ag(s)+Fe’*(aq) = Ag+ (aq) + Fe? * (aq)
The standard electrode potentials of the half cells Ag*/Ag and Fe3+/ Fe2*, (Pt) are
0.7991 V and 0.771 V respectively. Calculate the equilibrium constant of the reaction.
Ag(s) +Fe’*(aq) = Ag+ (aq) +Fe?* (aq)
Wifley - @ /SECTION - ¢
60. eafllCsranas swurflé@n wepsemer T (DG 5.
Mention the methods of preparation of anisole.
61. (i) Hlatwegar Hé&sD OHMID (i) Beumase cfener LDl GO erpg)s.
Write a note on (i) Clemmenson reduction and (i) Knoevenagal reaction.
62.  srellflells oyflavsHen HCrmAGamHy efenemules flpmmen er(ipg)s.
Write the mechanism of Bromination of salicylic acid.
63. LWES WMmBGIGET craTpTD eTemar ? efeu.
What are anaesthetics ? Explain.
T U@l -1V / PART - IV
@My : (i) Corgsin mrers, ellenrésEnsE elen wief. 4x10=40 .
(i) eflewm erewr 70 SL_L_MWIDT&e]1D Bsperer eflanrésaia LEE TN
epeIm) eflanmés@ndse aflen wef
Note : (i) Question number 70 is compulsory and answer any three from the remaining
questions.
(i)  Answer four questions in all.

64. (@) swelurssn oy pmaa urle@id sryeflsamer elilemas g s
(<t) &q@mrrsw@a;aﬂaﬂ@@gj ool Carrmifl it GTeUG M)y LﬁlrﬂgGg,@ésauu@aﬁ]m@ ?
(@)  Describe the factors influencing the ionisation energy.

(b)  How fluorine is isolated from their fluorides ?
B . [ S®Lys / Turn over
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65.

66.

67.

68.

14

(1) Ky[Cr(Cy0y);3]. 3HO eren GarnsHnE Gamaimaameanans GN&5a|LD.
(i) Quwir (i) enow 2 Geors e (iii) mef (iv) enanTay 6T '
(v) um Qeuafl BjeoLIY '

(=) bmSsIS geoplied sHfluss sCerGLriysaflen LwensEmers S[Hs.

(a) For the complex K5[Cr(C,0,)3]. 3H,0. Mention (i) Name (ii) Central metal ion
(iii) ligand (iv) Co-ordination number (v) Geometry

(b) Give the uses of radioactive isotopes in medicine. -

(<21) semenTTiqUilen Semenoeni ellenE @s. )

(=) BupGue uFLLE saTESSEWD, Cauudwied LFLILG SuTESEGD
Qe CGuwren CaumurBsenar GT(LPS@YLD.

(a) Explain the nature of glass.

(b) Distinguish between physical adsorption and chemical adsorption.

(1) Himiusriiy uHHu peveuraL Qararseamsemw adleuil.

(=) L ewaml e Slemeumii(SHE)-6a1 el wHm Qeweu @D
alsgans efleurl.

(a) Explain Ostwald’s theory of indicators.

(b) Describe the construction and function of SHE (Standard Hydrogen Electrode).

(=) Epsaam_eupdlDE THS5EST_H sl HaTéGs.
(i) @@ USS-LLYUES wrpdwib-&flnsCerorisarfea
(i) geflufuid wrhblwid -5 Aw&CsTmisaie
(<) Ep&EEETL DTHDBISET ETelEUTD) flspélemer ?
(i) Qrdlq s Sjfeib-emLiHells bled
() <serals Sjflob-ssmnl
(i) OsHd AL CLL-eTsHd SIALCCLL
(a) Explain the following isomerism with examples
(i)  cis-trans isomerism in organic compounds
(i) optical isomerism in organic compounds
b) How are the following conversions carried out
) .
(i) lactic acid to pyruvic acid
(i) oxalic acid to oxamide
(iiiy Methyl acetate to Ethyl acetate
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69. (=) GHLY cuemys.
(1) smrenueSlen eSlenen

(i) sHE eramblenis eener

(iii) grerl Guowsr @QG&JGM
(<24) <oLiy&GL e iamioliy ereveumm Hlmieuli L g)?

(a) Write a note on
L]
(i)  Carbylamine reaction

(i) Mustard oil reaction
(i) Sand Meyer reaction

(b)  How is the structure of fructose determined ?

70. (1) 3CrrGli48 evant Crramiruer CeHy eramp Gerrow (A), yGrTiLeSeyL e,
Brom AICl, wenaflaeaufa clemaryfibg Cemob (B) w5 SMEmg. (B)
2badlger gopoL s (C) 85 s®Apg. (C) HCl 2 e ollenaryflps
(D) womid S8 CLrenars smHmg. A, B, C opmidb D mé &euTL_Ml b
flenengener eflerdEs.

(<) Brsdlan &l graime eumd@ib Gurg (A) ererim Carogeamass &(HEmg).
(A) @& sriLmay @aiss @R&EWL Curs (B) ms BMHEDSI. (B) LT b5
Siflaggi e efavarfbg (C) LHMIL SO, eumuemeuw|d SmEDg. A, B
HmID C B& s Hbg i alenarsamen allernd (55,

(a)  An organic compound (A) CgHg is an aromatic hydrocarbon. Compound (A)
reacts with propylene in the presence of anhydrous AICl, to give compound (B).
(B) on oxidation gives compound (C). (C) reacts with HCl to give compound (D)
and acetone. Identify A, B, C and D. Explain the reactions.

(b)  The chief ore of zinc, on roasting gives a compound (A) which on reduction by

carbon gives (B). (B) reacts with concentrated sulphuric acid to give compound
(C) and SO, gas. Identify A, B and C. Explain the reactions.

S3l6V60g) / OR

B [ &miys / Turn over!
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(@) CHg(A) erany sifling Geiob V,05 peiiaflensoudied 773 K Qeutiublaneoudlen

(%)

(©)

(d)

16

sTHmL e pselnCammpweambg C;HO eram (B) Csiogmas s@mSns!
(B), Lrevanen ellenari@urmeer @(O&@&EDg. Camob (B)fl s bl
Bfler weraflaaufan Gemguwib <l Gl GLer GeutiuiuBisgid Curg
CyHgO, erap (C) Geinb fesdpgl. A, B wombd C 06 sanbbsg)
clenensanar cllemdEs.

STUILT Fae-Cul_, Aodeur eplCri wpmid QurlLrflwbd CwremL(
A sarsosmear Qarar@erar epem HAHS5SHSS 1O\ 6015 6V B! & 61Tl 6T
aPlCu WerGarriLb Qe@ssuu@dpg. 1.25 Sgrb  sroud
eSipuigauranmed, feeui wHmD SHCwWrger eIPURETEGHD Di6Teneld
FaTHd ().
(smUufler gorer eren. =317

Aeveufler swren et =108

SCwimger Forer eTenL, =127 )

An organic compound (A) C;Hg, on oxidation at 773 K in the presence of V,05
gives compound (B) of molecular formula C;HO. (B) reduces Tollen’s reagent.
(B) on heating with sodium acetate in the presence of acetic anhydride gives
compound (C) of molecular formula CgHgO,. Identify A, B and C. Explain the
reactions.

An electric current is passed through three cells in series containing respectively
solutions of copper sulphate, silver nitrate and potassium iodide. What weights
of silver and iodine will be liberated while 1.25 g of copper is being deposited.

[Equivalent Weight of copper=31.7
Equivalent Weight of silver#108
Equivalent Weight of iodine =127]

-00o0-
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